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L[ H A2 2% 2 (1) ke 92.00
2lE—7 H AR B (BR) kg 710.00
3|/ — H AR S £ dn (BF) 1 20.00
4|72 D EH D I ()z—T8 5 03 19.00
5|72 b — A— (BR) e kLR = 257 1 105.00
6| HIFO AL H AR & (BR) ke 600.00
71 bbNEABEEY— (B)=—U & & 168.00
8B NI LR D EDE (BR) B A kLR = ZE P A 105.00
9|9 XPEX (BR) T A kLR = 2T 1 125.00

10[4FEL A o B3 —h (BR) ke 8,500.00
11| it LR B R (F)a—U R, EN 368.00
12| KEI—h ()z—78 5 A 185.00
13[EE =L > (F)a—TU 8 ZN 285.00
14[ARL 2o03 AL =25 5 (BF) ke 293.00
15|75 L< FLIR = 7 5 (BK) 54 2.90
16| 7 REZL AL =25 5 (BF) ke 870.00
17(H°L (FR) Hiljigk kg 104.00
18[Lol AL =25 5 (BF) ke 385.00
9 —~ FLIR =55 7 28 (BF) ke 370.00
20|72\ "B (BR) 7 rma KIEKE ke 2,300.00
21| =—LHA FLIR =55 7 28 (BF) ke 280.00
2| HER—T DR )z —U R, ZN 1,080.00
23| B TCADFHE H AR S A in (K & 150.00
24| i B BESE H AR B (BR) A 28.00
25|Kn—AA b i —h (k) kg 970.00
261 FH A AL =25 5 (BF) ke 475.00
27| A\Z FLIR =508 5 (B ke 120.00
28] AL =25 5 (BF) ke 570.00
29|13k FLIR =255 5 (BR) kg 135.00
30[Fr AL =25 5 (BF) ke 92.00
SL{LHA FLIR =56 5 () kg 237.00
32(7 5 AL =2 5 (BF) ke 240.00
33| RAR FLIR =255 5 (BR) kg 80.00
34| TT 4 AL =2 5 (BF) ke 1,420.00
35|Z1FD (FR) Hiljigk kg 122.00
36| FAL AL =25 5 (BF) ke 280.00
T EA FLIR =508 5 (B ke 65.00
38|12 Az ALIE =55 7 5 (BR) ke 1,750.00
39[HA I FLIE =58 5 (B ke 320.00
40|71 ALIE =55 7 5 (BR) ke 450.00
41|h~h FLIR = S 75 5 () kg 320.00
42|13 =h~h ALIE =55 7 5 (BR) ke 630.00
43|/ M3 FLIR = S 75 5 () kg 370.00
44| DT AL = 2 5 (BF) ke 780.00
45| AEMEE FLIR = S 75 5 () kg 760.00
46|z DXFE ALIE =55 7 5 (BK) kg 320.00
4710 A FLIR =55 R (BF) kg 550.00
A8| N T ALY ALIE =55 7 5 (BR) ke 288.00
49|LE (FR) Hiljigk kg 328.00
50|77 =T ALIE =55 7 5 (BK) kg 2,200.00
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51|\ B2 ALIE =55 7 5 (BR) kg 2,200.00
52| 76 Ik AL =251 5 (BR) kg 385.00
53|13 ALIE =55 7 5 (BR) kg 212.00
54|34 T T AL =25 S (BF) ke 226.00
55|F% A7 )L—> (BE) il kg 524.00
56|41, % A o B3 —h (BR) ke 1,600.00
57| A o B —h (BR) kg 590.00
58| % A AF— R H A S £ () ke 880.00
59| 7 YTy R R A T LR | # 40.00
60| EAA () IR\ & 1 250.00
61&F ALIE =55 7 5 (BR) kg 295.00
62|1ZH x> ()z—78 5 ZN 430.00
63| Y TAADFHE (BR) & L& kg 570.00
64| & A7 /KRBT 51 H AR & (BR) i 180.00
65| HEH AR FLIR =56 & () ke 420.00
66|/ U BEIN H AR B (BR) 0w 470.00
67| KL L EEIN A o B3 —h (BR) kg 590.00
68|F 7 YA AL =25 5 (BF) ke 260.00
69|45 v (k) il kg 129.00
70(H A )z —U R, ke 1,370.00
T VA Z AU IKE (FR) Hiljigk kg 284.00
2| F VENE By /s WA R (BR) A 50.00
A=A T — H AR S A in (K N 450.00
74|72\ A (Bk) 7>z KiG/KPE ke 2,300.00
75| FIVR AT T A B (BR) & 45.00
76| EflETeE 2 O () IR \& ke 5,800.00
T EBF HARE RS (BR) N 450.00
78| FE I AL AT —F ) — R I i = (1K) %N 850.00
79[Diea—2 Lk YTy B A TR | 81.00
80| IR R0 3/ 3 — (q)z—TU8 N 600.00
81|EFARB () IR\ & kg 2,550.00
82| gL (BE) Hiljigk ke 319.00
83|+ 27 FLIR = 561 5 () kg 1,140.00
84| < FY — A (BR) & L& b ZN 900.00
85|4-H b BN A b B2 —h (k) kg 1,590.00
86| /R —~o AL =25 5 (BF) ke 390.00
87| AZ ANT%< (FR) Hiljigk kg 320.00
88|14 —7"IH (BF) & L& ZN 860.00
89|aF ¥ HARE &S (BR) i 260.00
90[> D 1L (BK) B H ps s ke 100.00
91| &l ()2 —T 8 4 230.00
92| K EIKE H AR A (BR) % 370.00
93| —~ FLIR = S 75 5 () kg 390.00
94|k 32 (k) ik ke 540.00
954 JIK FLIR = S 75 5 () kg 550.00
96|\ B () R\ & kg 1,130.00
97 IMEBLYTH HARE &S (BR) 4 660.00
98|HUA (BR) 7o aa Kig K pE ke 1,050.00
99| IK 1y 12— A HE L) A o B2 —h (k) kg 950.00
100457V Ty RS LR | # 40.00
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101 [/ AN AR — 2T A A H A S £ dn (BF) 1% 950.00
102|520 (FE) Hiljigk kg 194.00
103[F v 7-ir ALIR =55 5 (BR) kg 750.00
104| A% —= LR =55 3 () kg 850.00
105 ¥y 7&K (B)z—U & il 580.00
106 |/ LU A () IR\ & ke 1,060.00
10772\ C (Bk) 7oz Kig/KE kg 2,300.00
108|~=RF2HL —D % e psi = (BR) 03 1,220.00
109 | B R BE S H A S £ dn (BF) £ 360.00
L0 LS - S0 T L — oA W | ARG A5 (BK) %3 450.00
1112 — R AT7— FLIR = 275 5 (BF) kg 730.00
112[FNVREE&TF —A 7T 4 (U)N) WA R (BR) A 118.00
1135 mb b APY— (B —F) (Bk) = A0 S 325.00
14K —2AW v 7 v 7 A o S —h (BR) ke 958.00
115 fedex A LA (FR) Hiljigk kg 391.00
16| 7270 — A7 H A S22 £ vn (BR) 0w 580.00
1173 R A AT —F [ () 7Ly ai—tbl-7a % 47.00
118|F L # e —F =KLy v/ (BF) & L N 700.00
L19|HERBER D=1 (F)a—TU 8k N 660.00
120K 2 — AR Ak b BI—RER) e 83.00
121 7R R b AT FLIR =55 7 28 (BF) kg 440.00
122(8mi~r =2 —>1 H AR B (BR) 18 620.00
123" B LBRESAE (BR) 7o aa Rig/KE K 88.00
12435 HbbRAT —X [ b B — () e 73.00
125| ) A ANF - DOBRL Y T (BR) & L& %N 700.00
126|&H5D (Bk) 7>z KiG/KPE kg 1,250.00
27| S O FHT ()2 —U 8 b kg 664.00
1288 [E B LV R Ly v (BR) & L& b ZN 700.00
129\ BEX H DX 1 HARE &S (BR) N 180.00
130[H 59555 K E AL =25 5 (BF) kg 350.00
131|h~hA—T D3 (BR) & & £ 1,250.00
132| 7)Y/ —2R I i = (1K) %N 950.00
133[#RTp DA () IR\ & ke 6,300.00
134[#RTp>B () IR \U& ke 6,300.00
135[#RTe>C () IR\ & kg 6,300.00
136 R & O fl - HIHIEDB () IR)\U& ke 6,800.00
137|¥ RFFDi=i SRpEE (BR) %N 780.00
1385 U kIS B () R\ & kg 1,250.00
139|F /LR ELELUFASRAT TA/N—T AR s () i 100.00
140[C 230, ALIE =55 7 5 (BR) ke 125.00
141 A—=2A (FR) Hiljigk kg 158.00
142 L L ZLFE B Ak} PP (BR) & 69.00
143 | IR g B ()2 —T 8 K 155.00
1447V A ()z—TU8 & 168.00
145|a— 2N LHAT A A o B —h (BR) kg 1,580.00
146 | deiEE AR IV TV WY Z 7 R FER A AL FER | {# 40.00
147|bEPT)—I—KLvyi o/ () = L& ZN 800.00
148|745 U E -5t PP (BR) 4 360.00
14941 x5 Kt ()2 —T 8 4 380.00
1504 Ot X (F)z—TU8 b 4 137.00
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151[&>F g, ALIE =55 7 5 (BR) kg 300.00
152|7 ) —> 7 285 H = AL =251 5 (BR) kg 1,300.00
153|F~F2—L —1F B)a—U A 5, 1 180.00
154[LE Rt ()2 —U %N 240.00
155|EAIFHATA AT —X (—B4) B 5L 55 2 AL IR S 35 7T e 40.00
156|7-1F D=t (BR) & L& 03 1,190.00




